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274 Center of mass of three balls, 1

Three small balls are connected via massless rods in the Y
illustrated configuration. Each grid block is 2.0 cm long.
Determine the center of mass of the system. (131S5p2023)
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277 Jumping crowd and Earth displacement

A crowd of 100000 people each with mass 80 kg is initially at rest on Earth’s surface. They all
Jjump upward simultaneously and their maximum height from their starting point is 0.50 m.
Determine the maximum displacement of Earth from its starting point. (131Sp2023)
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